DAV PUBLIC SCHOOL, IB VALLEY AREA, MCL, BRAJRAJNAGAR.

Holiday Assignment (CLASS 8t)

SL. SUBJECT ASSIGNMENT (CLASS 8™)
1. SCIENCE PHYSICS
1. MCQ
What is force?
a. pull
b. push

c. push and push both
d. none of these
2. What is state of motion?
a. position of rest
b. position of motion
c. both by the state of rest or motion
d. none of these
3. The strength of force is expressed by?
a. weight
b. mass
c. magnitude
d. longitudinal force
4. The force between two charged bodies is called
a. muscular force
b. gravitational force
c. magnetic force
d. electrostatic force

2. SHORT ANSWER TYPE QUESTIONS
It is difficult to cut cloth using a pair of scissors with blunt blades. Explain.

1.

2. How does an applied force changes the speed of an object?

3. Two thermocol balls held close to each other move away from each other. When
they are released, name the force which might be responsible for this
phenomenon. Explain.

4. What is the similarity between electrostatic and magnetic forces?

3.LONG ANSWER TYPE QUESTIONS
1. What is force? State the difference between contact force and non-contact

force.
2. Define the different types of forces

An archer shoots an arrow in the air horizontally. However, after moving

some distance, the arrow falls to the ground. Name the initial force that sets

the arrow in motion. Explain why the arrow ultimately falls down.
CHEMISTRY

Project—Conservation of energy

1. Collect the electricity bills of your house.

2. Compare the consumption of electricity in different seasons.

3. Convert the data into a bar graph and compare it based on season.

4. Find out the causes of more consumption of energy in a particular month/season.
5. Find out the solution for reducing energy consumption in your house. Give more
suggestions to reduce energy consumption and try to imbibe habits of saving energy.
Note: The project can be prepared in any creative format.

6. What are inflammable substances ?

7. Suggest any one precaution that must be taken at petrol stations & LPG
godowns.

8. If the clothes of person catch fire, the person should be immediately




wrapped in a thick blanket. why?

BIOLOGY
SECTION-A
1 - compete with crops for nutrients.
2.----- bacteria present in the root nodules of --- plants
3. - results in loosening and mixing of soil

4. Name the chemical which kill weeds but do not harm the crops.

SECTION-B

1. Why is the use of a seed drill more advantageous as compared to sowing seeds by
broad casting

2. Define the term transplantation? List any two advantages it offers to the farmer.
3. If rice is sown in the month of Nov, how is the produce likely to be impacted? And
why?

SECTION-C.

1. Make a list of Kharif and Rabi crops which are grown in your area. Find out if
there are any silos in your city.

2. Find out about Organic farming .Learn about the activities involved and the
characteristics of plants grown in organic farming

3.Try to find out the changes that have come about between modern and traditional
farming practices

MATH

1. MCQ
1. Find the sides of a cubical box whose volume is 64 cm?,
2. If 140vVx+315 =1015, then x isequal to .
3. The value of (0.9)2- (0.1)?is :
4. The greatest number of 4 digit which is a perfect square is
5. Find the cube root of 0.064.
6. How many non-square numbers are there between 202 and 212 ?
7. How many square numbers are there between 1 and 50 .
8. How many zeroes are there in the cube of 1000?

9.What is the value of 2\/ 176 + V2401

10.What is the sum of first six odd natural number?

2. SHORT ANSWER TYPE QUESTIONS
11. Find the square root of 144 by the method of repeated subtraction.
12. The area of a square field [538281 m2. Find the length of its side.
13. Find the square root of T
14. Simplifylv81++0.81++0.0081)x /10000
15. Find a Pythagorean triplet corresponding to n=>5.

16. Find the smallest number by which 1800 must be multiplied so that it
becomes a perfect square. Also find the square root of the perfect square so
obtained.

17. Find the square root of 39204 (By long division method )

18. Show that 384 is not a perfect cube.

19. Find the cube root of — 3375.

20. Find the cube of square of 0.2

3.LONG ANSWER TYPE QUESTIONS
21. Find the square of 2.5 correct up to 3 decimal places.




22. Find the square root of 90 by Estimation method.

23. The area of a square field is 5184 m?2. A rectangular field, whose length is
twice of its breadth, has its perimeter equal to the perimeter of the square
field. Find the area of the rectangular field.

24. The product of two numbers is 1296.1f one of the number is 16 times
other, find the number.

_3/0.008 ] 3{2 27
25. Evaluate : 2027+ <312 X16

SST

1. MCQ

1. Identify one pair from the following which is correctly matched. [1]
(a) Internet data bases — Digital South Asia Library.
(b) Champaran — New Delhi.
(c)Morley Minto Reform — 1885.
(d) Gateway of India — New Delhi.
2. Fill in the blanks by choosing an appropriate word from the following,[1]
The vernacular press Act was passed in .
(a) 1858 (b) 1878 (c) 1880. (d) 1890.
3. The collection of historical records and documents are preservedin ____.
(a) Temple (b) Archives (c) Library. (d) Museum.
4. Which one of the following facts is not correct about the biggest museum on
Gandhiji ?
(a) It has a very good collection of Gandhiji writings.
(b) Its library has around 60000 books.
(c) It is looked after by Gandhi smriti.
(d)The museum is located at Sabarmati Ashram.
5.Choose the correct statement which depicts the significance of the Preamble in
the Indian constitution.
A. It contains the aims and objectives of the constitution.
B. It contains the powers of the President of India.
C. It states the objectives of the elections.
D. It states the powers and functions of the Prime Minister.

6. Who is regarded as the father of the Indian Constitution?
(a) Jawaharlal Nehru

b)Dr. B.R. Ambedkar
(c) Vallabhbhai Patel
(d)C. Rajagopalachari
7. Concept of Directive Principles of State Policy borrowed from which constitution.
(a) British. (b)USSR
(c) Canada. (d) Ireland
8. Which one of the following is a natural resource?
(a) Forests
(b) Road
(c) Medicines to treat asthma
(d)Television
9. Which one of the following is a biotic resource?
(a) Birds
(b) Land
(c )Water
(d)Minerals




10. Coalis a

N

(a) Renewable resource
(b) Non-renewable resource

(c) made-made resources
(d)Biotic resources

. SHORT ANSWER TYPE QUESTIONS
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Name any two bills passed by the British parliament that give information about
the history of modern period.

Why did the British pass the vernacular press act?

Name some Indian newspapers that worried the British government.

Define preamble of the Indian Constitution.

What does the constitution include?

How can you say the constitution of India is the lengthiest of the world.

Define the term conservation. Define the term conservation

What do you understand by sustainable development.

Mention two advantages of over irrigation.

10. What do you mean by resource development?

3.LONG ANSWER TYPE QUESTIONS

1. List the main sources of information of the modern period. Explain any two
sources briefly.

2. India has a single integrated judicial system. Explain it.

3. Mention any five purposes which the constitution of India serves towards
strengthening democracy.

4. Give any five characteristics of Regur soils of India.

5. Differentiate between potential and actual resources

ENGLISH 1. MCQ

I. Choose the correct answer (MCQ)
1. The king was the bearded man’s

i) friend ii) enemy
iii) guard iv) soldier
2. ‘If you can give me none please say me so, I will go home’.

Who said these words?

i)Bearded man i) learned man
iii) king iv) soldier
3.The hermit lived in a

i) small hut ii) big hut

iii) bright hut iv) dark hut
4.The word ‘varied’ in para 3 means
i)different il) unnecessary
iii) unequal iv) unimportant
5.When he reached the king he fell on the ground and fainted. Who is he?
i)the soldier ii) the hermit
iii)the beardedman iv)the minister

6.What did Granny’s family decide to build for her?
i)A house on the ground ii) A lift to reach the tree

iii) A house on the tree iv) A house in the park
7.How did Granny feel about the idea of aging gracefully?
i) She loved the idea ii) She was excited

iii) She would rather age disgracefully




iv) She was indifferent.

8. Granny felt in her bed like

i) heaven i) happy

iii) comfortable iv)hell

9.The responsibility of building a house on the tree top was taken up by
i) neighbours ii) the poet’s father

iii) her relatives iv) the poet.

10.The doctor took Granny’s temperature and suggested her

i) not to climb trees i) live gracefully

iii) a quiet week in bed iv) healthy food habits.

2. SHORT ANSWER TYPE QUESTIONS

Answer the following questions in 30-40 words:

1. Why did the king refuse to give the reward?

2. Whom did the king decide to visit and why?

3. How did the king’s unique way of answering the questions prove his wisdom?
4. How did the king help the bearded man?

5.1 nitially, the bearded man wanted to kill the king, but later he asked for
forgiveness. Explain the reason behind this transformation.

6. Why did the narrator’s family ‘sigh in relief” in Granny’s Tree climbing?

7. Mention the reason which made granny’s family worried?

8.What things does the narrator carry to his Granny’s tree top house?

9. Grandparents are always dear to grand children . Mention any two values children
learn from them.

10. ‘My dad knew his duties’. What did he think his duty was?

3.LONG ANSWER TYPE QUESTIONS

Answer the following questions:
1. The true purpose of life is to forgive and help others . How does this saying relate
to the character of the king? (70-80 words)
2. Do you consider poet’s grandmother a crazy woman . Support your answer with
reference to the poem.(70-80words)
3. Write a speech on ‘Tradition against modernity -Generation gap’ to be delivered in
the morning assembly. You can refer to Unit | Changing Times of My English
Reader book.
4. Imagine you are Granny, express your feelings of restlessness and sorrow while
you are on bed rest, as advised by the doctor, in the form of a diary entry.
5. You are the bearded man , write a letter to your friend expressing your happiness
and gratitude towards the king for his timely help and saving your life.
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2. SHORT ANSWER TYPE QUESTIONS
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